F22ERESEFRBRITE—IYrR—ILRXEHAEDLE

BRE B 1 [E1 8 2 B B SRR ER
2A18H 2817H 2A18H 28 24H
BBE |@@mif) 82
45 HitG 10:30) 45
HitG BRTH |05 R2AD) 7 thithG 12:40
10:00
wm |z 80
G 11:50,
19 0
wnTe |@mem - G 13:50
BET  |seis) 33
29 HitG 13:10 26
G AER  |(EHM2AD) 12 G 14:00
11:20
. 36
BRI |(F4R140)
G 14:30,
27 24
mEATIX |(ZF24D) 7 3 B PYEE==rs
G 12:25
24
EHBR (s B2 3451 )
15 ZEHMG 10:30 0
sEme | DETERE |(SEbD) 31 2 HIG 12:40
10:00
soBARESE | (B mat) !
ZEHMG 11:50
24 140
B3
I el 90 hitG 11:00
RIS |k !
0 ZEMG 13:10 0
£BMG A xR |(ZEMD 59 % BMIG 14:00
11:20
sl o 12
FAKE (B$REI34L)
ZEHMG 14:30
61 70
BANM
e (Z50441) m




EfRE &

= — =t
= AEHEE
ERESTE—TYMR—ILIGER
=EREES
NG TH29OFE F22REBEFFRERTVE—TYNR—ILRE ATOYY
# H ER30FE2H18H(R)
= 5 F1)—2IJ4— LRt
PR PG DG Baast KA | &
GIES 0 0 28 o |Fef
I BB T % 45
) T ‘Y 0 0 17 ; [TE
z |1
o |5t
4 - ES 0 0 12 7
EINNTE 19
®E 0 0 7 2
CIES 0 0 17 5 Ref
LEE 29 e
) 55 ‘Y 0 0 12 6 |P%
z |2
o |5t
L3 P AT 1 0 15 5
mMAMmIE 27
®E 0 0 12 3
GIES 0 0 17 o |Fef
HHE 45
2 f B 0 0 28 2 Al
A E
LI PN GIES 0 0 0 4
]2 0
®E 0 0 0 4
GIES 0 0 19 o |Fef
BT 26 —
2 T B 0 0 7 4 2
I
L3 PN CIES 0 0 5 2
Bt 24
e 0 0 19 1




EfRE &

T mp— SN —
BRSJE— &R
IEBRESSE—DJyhR—ILiGE
ERERER
NG TH29OFE F22REBEFFRERTTE—TYNMR—ILRE
# H ER30FE2H18H(R)
= 5 F1)—2TJ4— LRt
FIR4A T G PG DG Baast KA E&
Ref
GIES 2 0 0 0 10 2 |
&R 15 .
[ e 1 0 0 0 5 3 |[BF
= |
e | B
B & CIES 3 2 0 0 19 1
BBXHE 24
®E 1 0 0 0 5 3
Ref
GIES 0 0 0 0 0 3 |
miﬁl% 0 PN
B 55 ‘Y 0 0 0 0 0 2 &
= |2
e | B
L PN GIES 5 0 0 0 25 1
FEKE 61
®E 6 3 0 0 36 2
Ref
GIES 0 0 0 0 0 3 |
mETER 0
2 f B 0 0 0 0 0 5 Al
m |2
e | B
L PN B |10 5 0 0o | 60 0
[iic] 140
®E 14 5 0 0 80 0
Ref
GIES 0 0 0 0 0 3 |
AK 0
2 T B 0 0 0 0 0 2 N1
=N
e | B
L3 P CIES 6 6 0 0o | 42 2
B 70
®E 4 4 0 0 28 4

BIOw 3 MAMREERK. AEAEK




BRE £

ERIJE—HERE

KBESSTE—DyrR—ILE

EREES
R&ES TR29EE F22MFEBEEFRERTIE—TvRR—ILRKE ATOYY
# B EH30£28178 (1)
= 15 G1)—2I4—ILR it
A T G PG DG BsHaEE &A| | HZE
Ref
IES 5 4 0 0 33 2 ¢
B E 62
e J
T D 5 2 0 0 29 3 iadx
B0 .
& CIES 1 1 0 0 7 2
Iy B T3 7
®F 0 0 0 0 0 1
Ref
IES 8 6 0 0 52 o |°
BABEH 80
e =
- T 4 4 0 0 28 3 |78
BN .
& CIES 0 0 0 0 0 1
EMMTE 7
B 1 1 0 0 7 2
Ref
IES 4 4 0 0 28 5 |
Eizpn 33 L=
£ oy 1 0 0 0 5 5 |PF
3
BN .
& CIES 0 0 0 0 0 5
Z2HE 12
B 2 1 0 0 12 2
Ref
IES 4 2 0 0 24 3 |
EIFh 36
e +
f o 2 1 0 0 12 4 E
BN .
= e 1 1 1 0 10 3
MAfRIE 17
B 1 1 0 0 7 1




EfRE &4

[ - _|=_ » \\_E A
ERSTE—HRERKE
IFRESHTE—DyrR—ILIGE
EREES
RE4 T2 E F22REEEEFRERTITE—TvrR—ILAXE BTAYY
2 A FR30F2A178 (L)
= 15 G)—2I4—I)LRhith
FRA T G PG DG "REF | RAI| #BE
Ref
IES 3 1 0 0 17 I i
&R 24 .
T ® 1 1 0 0 7 6 R
S s
& EE 1 1 0 0 7 3
mMEHEE 31
‘¥ 4 2 0 0 24 2
Ref
Frk 1 1 0 0 7 5 |
RBXHE 7
f ®¥ 0 0 0 0 0 4 e
S s
& EE 5 3 0 0 31 3
il o 90
®E 9 7 0 0 59 0
Ref
Bk 1 1 0 0 7 2 |
Iz g T % 7 A
Rarasd 7
? ® 0 0 0 0 0 5 k&
S s
& EE 5 3 0 0 31 0
AAE 59
®E 4 4 0 0 28 2
Ref
K IES 0 0 0 0 0 5 |
12
Rarasd \li
T ® 2 1 0 0 12 5 E
=
2| B IES 4 4 0 0 28 2
35
®E 1 1 0 0 7 6




